There are 7 bananas in a pack. Mr Gibbon bought two packs. How many
bananas did he buy altogether?

e There are 21 highlighter pens on the Red Table. There are 7 children sitting
at the table. How many highlighters would they each have, if they shared
them equally?

9 Mrs Pepperpot is planting potatoes. She puts 7 potatoes in each row.
If she plants 5 rows, how many potatoes will she grow?

o Ahmed has 7 puppies. He shares 49 doggy treats between them. How
many doggy treats do they each get?



